RBERER B2k
2009~2010 Z2EFH —ZHHRE R AL
A & (1B &

WA _ =S HEB (1) HEAEAHS:  MATH120003. 02
FFRBER:  BUErRLAEB R AL
W % ST £ b

s 1 2 3 4 ) 6 7 8 9 10

(S

(BEREE A S I E)

—. (10 43) FIWr ARG IE#:
1. # lim|f(x)]|=0, )”JJXIimX f(x)=0. (
2. MR 8 XX A P — o v T
3. A FOOTE xo AEHAFA RAR B /MEL, W) £1(x) =0.
4. FF)E, W Fxdx=f(x).
5. & a5 b FAMIETLL a5 b AARA R AT VUL T 1 AL

~ A~ A~ A

TN (1073 K HURRBR:

2
1. |im2”—+1=1. (543
n—o2n° —n+1/n 2
2. fimMitsinx-1 1 (5 43)
x—0 eX 1 2

=, (109 HE AT B EL
\ . dy
JL _aX < 7
1. wy=e"Inx, ;kdx'

it ﬂ:exlnx+exlzex(lnx+£j. (541
dx X X

2. wxy=e", 3K dy.

fift:  ydx+ xdy=e*"Y (dx+dy); (341
X+y

€
e

—Y dx. (29
—X

" —x)dy=—-"" -y)ydx,  dy=-

X+y

CIX

X X X X <«



PU. (10 43) K FHIAER 5 e

1. J- sin x
1+ cos? X

fift J' sinx dx=—J' 12 dcosx

=—arctan oG

2. I;In(1+ X)dx.

fift - j;|n(1+ X)dx = xIn(L+ X)[} - jolxd In(L+ X)

(3

)

(27

—n2-[ % dx=lh2-(x-Ih@+x)} =2Ih2-1
=In —jom x=I2-(x=In(L+x))[; =22~

3
. (1040 iWHEEEy =2 ==

(3

53

Lot SO (140 P (2 40). BB (14

X
P (2400, B (L) BEZk (14, FHEHRREES (24 .

fift: 5 I D(y) = (~0,0) U (0,0) .

v 2xX +1 %SX__% y--:&;z1 3 15(1, 0).
X | (co1/32) | —1732 | (-113/2,0) 0,1 1 @ +0)
y' - 0 + + + +
y" + + + - 0 +
e/ ME D)
y N Y %7 7 7 b 00 7 R
2
i X3X—1=+oo, i XSX oo, X= 0T FIHFELE, A AT 4,
1EK

v

~1/32




Q040 Sky=x4, x =155 x AT R I TR AL B S8 y SER: T e
RIIARTR.

figt: IR = .[lxzdx=l. (443
0 3
e AARAARR = Zﬁj:X'deX:%. (6 41)

£y (1049 B pz0, PHERHHY \j“”'”(x D o .

0

2 2 2
fit : JO moi(—p+l)dx=LmO§(—p+l)dx+j;mO§(—p+l)dx. (14

2
B [ D 0t o PO, o< psBREG (49D

B [ D gt p o canbliel, p-2aMEIL. 4%
FrCL, JRA D M1< p<3WT s, H0<p<iFl p=>3 W &KL (14

S (10 40 Hg XS YZE 'a:aef{?’x SO 17 e, K

th b4l]ﬁ?§ﬁ’]¥ﬁ7‘ﬁ% A, RSP E AN B e #TE H K
HEITFE.

i {3X‘y‘3:°aﬁ'ﬁmfﬂmx T T I T 4
y—-3z+3=0 3

I, =(3,3,-1) Fll, =(1,3,1), P,(4,3,0) F1P,(0,-3,0) 772 W4 Bk L.
T

3 3 -
(I x1) PP =[1 3 1|=12-6+12-18=0, FTLL, B ELLER—Fim L. (545
46 0
i J k
JAEPI SRR 2 =3 3 -1=60 -4]+6k=(6-4+6), FTLL, “FIilJs
13 1

FEst3x—2(y+3)+3z=0, 1§
3x—-2y—-3z+6=0. (57
fift 2: AP 3R 3x — y —3+t(y —3z+3) =0, S5 R F i SR A ik 55 (4,3.0) 1. % (4,3,0)
RN IR TR t=-1, BP0 TFE3x—2y+32-6=0. (5 7)) MW4H
ST A X2 = Y22 - L e Pl sx-2y+37-6-0 |, 1 ALY

[=@3-)L1n=(3-23). MTT-A=0=1L1f, FTAGE M 4 HEA R
b, (54 &P FEE 3x—2y+32-6=0+



ik

(10 43> WeR%L f FEXH[ABIES: (KHME f TS), A<a<b<B, K

|imjb—f(x+h)_ 09 g
h—0Ja h

: lim jbw dx= rILmO%Ub f (X +h)dx— Lb f (X)dx} = Lim EU::: f(x)dx - jb f (x)dx}

a

a —0h

h—0Ja h
(45 .
3k, [ odk FAS R TT, R I'Hospital B0, 75 %)

Lm%[f:j:f(x)dx—j;f(x)dx}:tl]i_)n%[f(b+h)— fa+h]=fb)-f@. (44

ESpiEets
mﬁwdxﬂ(m—f(ay (245
L (1040 ¥ fEX A, 1] FiELE, Ej;f(x)dx:o, I;xf(x)dx:o, J;xzf(x)dx:l,

UEWAAE, 1] LA AP E— w0 SR f () 212

fj(x—%)zf(x)dx:folxzf(x)dx—ﬁxf(x)dx+%_[§f(x)dx:l, (449
BOIE: GRAEAE £ [0, Q1EF (&) 212, WXERE xe[0,4], | f(X)[<12 (243 .
Ak

1 1 1 1.
J;(X—E)Zf(x)dxsj;(x—§)2|f(x)|dx<1zj:(x—E)zdx=4(x—5)30=1. T (449




